8.2 Practice Problems

1. Write the augmented matrix of the given system.
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2a. Write the system of equations corresponding to each augmented matrix. [ 15 _72 ‘ ;]
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2b. Then perform the indicated row operation. R2=—3 ¥y
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The reduced row echelon form of the system of linear equations is given. Write the system of equations
corresponding to the given matrix. Determine whether the system is consistent or inconsistent. If it is

consistent, give the solutions.
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Solve each system of equations using matrices (row operations). If the system has no solution, say that it is
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inconsistent.
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2x—4y+z=20
3x+5y—-2z=-17
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x+2y_3z:_16
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3x—2y+22=6
7x_3y+22=_1
2x—3y+4z:0
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